Screen Shots/ Answer Key for TI-84

1. Composition Solution:

NORMAL FLOAT AUTO REAL RADIAN MP n NORMAL FLOAT AUTO REAL RADIAN MP

NORMAL FLOAT AUTO REAL RADIAN MP n

Plotl  Plot2  Plot3 7000 L e 0R48.8.
E\Y1H. 88X 7000 Y2(Y1(Ans))
B\Y2BX+600 Y2 (Ve CRnS)) T 6362.944.
E\Y3= 6760 Y2(Y1(Ans))
I\Y4= Yo (Y1 (ARSYY T 6192.39072
E\Ys= 6548.8 Y2(Y1(Ans))

\Ye= Yo (Y1 (ARSY)Y T 6055.463834.
E\Y?= 6362.944 Y2(Y1(Ans))
ENYs— D s I 5928. 808174
E\Ys9=

NORMAL FLOAT AUTO REAL RADIAN MP n

PYYY.ULYb3?

Y2(Y1(Ans))
.............................. 2000.009362
Y2(Y1(Ans))
.............................. 2000, 008239
Y2(Y1(Ans))
................................ 5000, 90725
Y2(Y1(Ans))

5000. 00638

D) 6760.00 trees; 6362.90 trees; 6055.50 trees E) 5000 trees

1. Recursive Solution- Use Sequence Mode (SEQ):

NORMAL FLOAT AUTO REAL RADIAN I ’ n NORMAL FLOAT AUTO REAL RADIAN MP n NORMAL FLOAT AUTO REAL RADIAN MP n
FUNCTION TYPES
Plotl Plot2 Plot3 WINDOW
nMin=0 nMin=0
B~u(n)B.88u(n-1)+600 nMax=100
u(nMin)B{70003 PlotStart=1
iwv(n)= PlotStep=1
FULL v{nMin)= Xmin=0
FRACTION TYPE: [¥F] Uned B-win)= Xmax=100
ANSWERS:EITEE DEC FRAC-APPROX Y= -
GO TO2ND FORMAT GRAPH: [T YES wnMin)= Xscl=10
STAT n:nﬁnusucs - ON Ymin=0
SET CLOCK 0312-1/15 10 12PM LYmax=9000
NORMAL FLOAT AUTO REAL RADIAN MP ] NreeL FanhT AUTO REAL RADIAN MP  F) EINORMAL FLOAT AUTO REAL RADIAN MP
DISTANCE BETMEEN TICK MARKS ON AXIS - un) PRESS + FOR aTb1
n ui(n)
WINDOW ) 7000 633
TnhMax=100 % g;ag g 5557
PlotStart=1 3 5352:9 g:ggg
PlotStep=1 ; 2%33'2 5379.6
Xmin=0 6 5928.8 g
Xmax=100 ? 5817.4 52537
Xscl=10 8 5719.3 5227.6
-~ 9 5633 £200.3
Ymin=0 5557 5176.3
Ymax=9000
Yscl=100
NORMAL FLOAT ﬂum REAL RADIAN MP 1 NORMAL FLOAT AUTO REAL RADIAN MP n
PRESS + FOR aTb1
uin) u=.88u(»-1)+600
5660.3
5000.2
5000.2 d
5000.2 L
5000.2 .‘\ 52
5000.1
5000.1 r
5000.1 3
5000.1 L
5000.1 I
5000.1 ‘ ]
n=78
X=78 ¥=5000.0935 1




F) 7 months: $1298.62

2. Composition Solution:

Plotl Plot2 Plot3 1500

ENY1BEX-50 e 1500
E\Y281.015X1 Y1(Y2(Ans))

B\Ya= e 1472.5.
EN\Y4= Y1(Y2(Ans))

ENYs= s 1444.5875.
\Ye= Y1(Y2(Ans))

ENYz= 1416,256313.
E\Ys=

E\Y9=

.............................. 138/.0UYULD/ LDZ.7I70UYD
VIOV (ERSYS e Rl
................................ 1358.31266.| | . ........105.2031522
Y1(Y2(Ans)) Y1(Y2(Ans))
.............................. 1328.687349. 56.78119945
ViV CARST) VY Ry T AR A AT,
................................ 1298.61766. 7.63291744
ViV EARST) S A A
.............................. 1268.996925.| | ............742.2525888

2. Recursive Solution:

NORMAL FLOAT AUTO REAL RADIAN MP n

G) 41 months: -$42.25

NORMAL FLOAT AUTO REAL RADIAN MP n

ui(n)

Plotl Plot2 Plot3 TABLE SETUP

nMin=0 TblStart=0
B-u(n)B1.015u(n-1)-50 aTbl=1

u(nMin)B{15003 Indent: Ask

i-v(n)=A Depend: Ask

v(nMin)=

~w(n)=

w(nMin)=

NORMAL FLOAT AUTO REAL RADIAN MP
PRESS + FOR aTb1

381.07
336.79
291.84
246.22
199.91
152.91
165.2

56.781
7.6329
“42.25
-92.89

NORMAL FLOAT AUTO REAL RADIAN MP n

u=1.015u(»-1)-50

X=H1 ¥=-42.25259

WINDOW
nMin=0
nMax=45
PlotStart=1
PlotStepr=1
Xmin=0
Xmax=45
Xscl=5
Ymin=-200
LYmax=1600

H) 40* $50 + $7.63 = $2007.64

NORMAL FLOAT AUTO REAL RADIAN MP
PRESS + FOR aTb1

n ui(n)

1560

14725
1444.6
1416.3
1387.5
1358.3
1328.7
1298.6
1268.1
1237.1
1205.7

0
1
2
3
y
5
6
7
8
9

n=10

NORMAL FLOAT AUTO REAL RADIAN MP
DISTANCE BETWEEN TICK MARKS ON AXIS
WINDOW

TnMax=45

PlotStart=1
PlotStep=1

Xmin=0

Xmax=45

Xscl=5

Ymin=-200

Ymax=1600

Yscl=1001

]




3. Composition Solution:

Plotl Plot2 Plot3 £ e T 494,
ENY180.5X geo | |Yz2(Y1(Ans))

B\Y28X+200 Y2 (Y 1 CANS) Y e 425.
BNY3= s 600 Y2(Y1(Ans))

I\Y4= Yo (YL CANS ) Y e, 412,95,
ENYS5= s o009 Y2(Y1(Ans))

\Yes= Y2 (Y1 CANRS) Y T e, 406,25,
E\Y7= 450 Y2(Y1(Ans))

A [ . I 403,125
E\Y9=

NORMAL FLOAT AUTO REAL RADIAN MP D

.............................. 499, L7D3149,
Y2(Y1(Ans))
.............................. 400, 9976563
Y2(Y1(Ans))
.............................. 400.0488281.
Y2(Y1(Ans))
.............................. 400.0244141
Y2(Y1(Ans))
................................ 400.012207

D. 600 mg. ; 412.5 mg.; 400.02 mg. E. After 23 days there will be .7812 mg. F. 400 mg. G. 400 mg.

3. Recursive Solution:

N R |
+ a

Plotl Plot2 Plot3 TRABLE SETUP 8r) ;Je(on)

nMin=0 TblStart=0 1 600
B~u(n)B.5u(n-1)+200(n<14) aTbl=1 2 500

u(nMin)B(8003 N Indent: Ask 2 ae

B~v(n)= Depend: Ask 5 412.5

v(nMin)= g :ggfg

win)= 8 401.56

w(nMin)= 9 4900.78

NORMAL FLOAT ﬂUTO REAL RADIAN MP
PRESS + FOR aTb1

n ui(n)

NORMAL FLOAT ﬂUTU REAL RADIAN MP ]
PRESS + FOR aTb1

uin)

T A
WINDOW WINDOW w=.5u(n-1)+200(n<15)
nMin=0 TnMax=25
nMax=25 PlotStart=1
PlotStart=1 PlotStep=1
PlotStep=1 Xmin=0@ || B Trresesseaaan
xmin=0 xmax=25 [ %
Xmax=25 Xscl=5 | ..
Xscl=5 Ymin=-200 + + +
Ymin=-200 Ymax=900 [
LYmax=900 Yscl=100 ?:1156 .




4. Composition Solution:

NORMAL FLOAT AUTO REAL RADIAN MP ﬂ

450
.............................................. 450
Y2(Y1(Ans))
.......................................... 427.3.
Y2(Y1(Ans))
...................................... 408.375.
Y2(Y1(Ans))
.................................. 392.11875.
[ ]

Plotl Plot2 Plot3

E\Y1B0. 85X

E\Y28X+451

E\Y3=

I\Y4=

E\Ys5=

\Ye=

E\Y?=

E\Ysg=

E\Y9=
.............................. SYY.9uL/ 170,
Y2(Y1(Ans))
.............................. 300,0014616,
Y2(Y1(Ans))
.............................. 300.0012424.
Y2(Y1(Ans))
................................ 300.001056
Y2(Y1(Ans))
.............................. 300.0008976.

4. Recursive Solution:

NORMAL FLOAT AUTO REAL RADIAN MP n

Plotl Plot2 Plot3
nMin=0
B~u(n)B.85u(n-1)+45
u(nMin)B{45023
i~v(n)=N

v(nMin)=

~w(n)=

w(nMin)=

NORMAL FLOAT AUTO REAL RADIAN MP ]

ui(n)

300.23
300.19
300.16
300.14
300.12
360.1

300.08
300.07
300.06
300.05
300.04

D) 427.50 mg.; 392.11 mg. ; 329.53 mg.

NORMAL FLOAT AUTO REAL RADIAN MP n

TABLE SETUP
TblStart=0
aTbl=1
Indpnt: Ask

Depend: Ask

NORMAL FLOAT AUTO REAL RADIAN MP n

.................................. S74£x L1872,
Y2(Y1(Ans))
.............................. 378,3009375.
Y2(Y1(Ans))
.............................. 366.5957969.
Y2(Y1(Ans))
.............................. 356.5724273.
Y2(Y1(Ans))
.............................. 348.0865632.
E) 300 mg.

NORMAL FLOAT AUTO REAL RADIAN MP
PRESS + FOR aTb1

n ui(n)

WONAVIIWNRO

S S o Gk
WINDOW WINDOW
nMin=0 TnMax=50
nMax=50 PlotStart=1
PlotStart=1 qutStep=1
PlotStep=1 §:;2220
Xmaw-50 Yeci-10
Xscl=10 Ymin=0
Ymin=0 Ymax=500
LYmax=5001 Yscl=100

]




5. Composition Solution:

NORMAL FLOAT AUTO REAL RADIAN MP D

Plotl Plot2 Plot3
E\Y181.003X-300
B\Y2=
E\Y3=
I\Y4=
E\Ys=
\Ye=
E\Y?=
E\Ys=
E\Y9=

NORMAL FLOAT AUTO REAL RADIAN MP
12000
.......................................... 12000
Y1 (Ans)
.......................................... 11736,
Y1(Ans)

.................................. 11471,208
Y1(Ans)

.............................. 112095, 62162
|

NORMAL FLOAT AUTO REAL RADIAN MP n

T37/.071UbY/

Y1 (Ans)

............................. 7698.8841338.
Y1(Ans)

............................. -1000, 280786,
Y1(Ans)

............................. -1303. 9283729
Y1(Ans)

............................... ~1607.89568.
|

4 year balance is -$1607.90 (not enough money)

5. Recursive Solution:

NORMAL FLOAT AUTO REAL RADIAN MP [] NORMAL FLOAT AUTO REAL RADIAN MP []
Plotl Plot2z Plot3 TABLE SETUP
nMin=0 TblStart=0

B~u(n)B1.003u(»n-1)-300 aTbl=1
u(nMin)B{120003 Indent: Ask

i~v(n)=N Derpend: [IXs Ask
v(nMin)=

~w(n)=
w(nMin)=

NORMAL FLOAT AUTO REAL RADIAN MP '} [NORMAL FLOAT AUTO REAL RADIAN MP -

PRESS + FOR aTb1 PRESS + FOR aTb1

n ui(n) n ui(n)
0 12000 [T 798.1
1 11736 y1 500.49
2 11471 u2 202
3 11206 43 -97.4
y 10939 4y "397.7
5 10672 45 -698.9
6 10404 46 -1001
7 10135 y? 13604
8 9865.7 ug -1608
9 9595.3 g 1913

9324.1 59 -2218
n=50

NORMAL FLOAT AUTO REAL RADIAN MP n

.............................. Z7800. 070444,
Y1(Ans)

.............................. 99995: 287515,
Y1 (Ans)

.............................. 9324, 073378.
Y1 (Ans)

.............................. 9052.045598.
Y1(Ans)

.............................. 8779201733,
|

12 month balance

NORMAL FLOAT AUTO REAL RADIAN MP n

WINDOW
nMin=0
nMax=50
PlotStart=1
PlotStepr=1
Xmin=0
Xmax=50
Xscl=10
Ymin=-2000

VYmax=12000

NORMAL FLOAT AUTO REAL RADIAN MP

DISTANCE BETHEEN TICK MARKS ON AXIS

WINDOW

TnMax=50
PlotStart=1
PlotStep=1
Xmin=0
Xmax=50
Xscl=10
Ymin=-2000
Ymax=12000
Yscl=10001

NORMAL FLOAT AUTO REAL RADIAN MP [I

u=1.003u(n-1)-300

¥=-97.39886




6. Composition Solution:

NORMAL FLOAT AUTO REAL RADIAN MP n

Plotl Plot2 Plot3
E\Y18X-.50
E\Y28.9X

E\Y3=

E\Yq=

E\Ys=

\Ye=

E\Y?=

E\Ys=

E\Y9=

Priya’s Server Jen’s Server

7. Composition Solution:

NORMAL FLOAT AUTO REAL RADIAN MP n NORMAL FLOAT AUTO REAL RADIAN MP

NORMAL FLOAT AUTO REAL RADIAN MP n

Plotl Plot2 Plot3 1508 e 1449.28/9.
E\Y181.015X-50 1500 Y2(Ans)
B\Y281.015X-200 Yi(Ans) T 1266, 256313,
E\Y3= 1472.5 Y1(Ans)
B\Y4= Yi(Ans) T e 1235.250157.
E\Ys= 1444 .5875 Y1(Ans)
\Ys= Y2 (Ans) T e 1203.77891.
\Y?= 1266.256313 Y2(Ans)
N B e L L2 I A 1921, 835593,
E\Y9=
Month Pay Amt Formula Balance
0 - - 1500
1 50 Y1(ans) 1472.5
2 50 Y1(ans) 1444.59
3 200 Y2(ans) 1266.26
4 50 Y1(ans) 1235.25
5 50 Y1(ans) 1203.78
6 200 Y2(ans) 1021.84
7 50 Y1(ans) 987.17
8 50 Y1(ans) 951.98
9 200 Y2(ans) 766.26
10 50 Y1(ans) 727.74
11 50 Y1(ans) 688.66
12 200 Y2(ans) 498.99
13 50 Y1(ans) 456.47
14 50 Y1(ans) 413.32
15 200 Y2(ans) 219.52
16 50 Y1(ans) 172.81
17 50 Y1(ans) 125.41
18 200 Y2(ans) -72.71

E. At 7 months balance is $987.17 F. Balance paid at 18 months.



7. Recursive Solution:

n
Use this function: [Intgj:

Classic
NORMAL FLOAT AUTO REAL RADIAN CL I]

Plotl Plot2
nMin=0
B~u(n)BERC((int (n/3))=(n/3))
)%(1.015%u(n-1)-200)+(((in
t((n)/3))Z(nr3)))%(1.015%u

(n-1)-50)

Plot3

u(nMin)B{15003

B~vin)=

v(nMin)=

~w(n)=

Math Print

NORMAL FLOAT AUTO REAL RADIAN MP n
Plotl Plot2 Plot3
LAMANZO s
eumB(((int(3))=%))*a,
SR
i~vin)=

v(nMin)=
B-win)=

w(nMin)=

2 k(.015a, —200)+| | Int> |= 2
3 3)73

Note the value of nMin=0.

NORMAL FLOAT AUTO REAL RADIAN MP

Plotl Plot2 Plot3

u(nMin)B{156003
i~vin)=

v(nMin)=
B-win)=

w(nMin)=

(1.015a, —50)

NORMAL FLOAT AUTO REAL RADIAN MP I]

Plotl Plot2 Plot3

u(nMin)B{156003
i~vin)=

v(nMin)=
B-win)=

w(nMin)=

NORMAL FLOAT AUTO REAL RADIAN MP I]

NORMAL FLOAT

AUTO REAL RADIAN MP I]

Plotl Plot2 Plot3 Plotl Plot2z Plot3
nMin=0 LPMAn=0 .
IHu(n)E‘ﬂg] x(1.@15xu(n—1} IHu(n)Ef(l.015xu(n—1)—50)l
Cu(nMindB{iseey T u(nMin)B{1500}
i-vind)= B-vin)=
v(nMin)= v(nMin)=
i~win)= Bwin)=
w(nMin)= w(nMin)=
NORMAL FLOAT AUTO REAL RADIAN CL 1 NORMAL FLOAT AUTO REAL RADIAN CL
PRESS + FOR aTb1 PRESS + FOR aTb1 1
n u(n) n ui(n)
) 1500 951.97
1 1472.5 766.25
2 1444.6 727.74
3 1266.3 688.66
y 1235.3 498.99
5 1203.8 45647
6 1021.8 413.32
7 987.16 219.52
8 951.97 172.81
9 766.25 125.41
727.74 -72.71

NORMAL FLOAT AUTO REAL RADIAN MP I]

TABLE SETUP
TblStart=01
aTbl=1

Indpnt: Ask

Depend: Ask

NORMAL FLOAT AUTO REAL RADIAN MP I]
u=(Cint((2)23))=((n)r3)))K(1.015%..

Y¥=-72.71211




NORMAL FLOAT AUTO REAL RADIAN MP n

WINDOW
nMin=0
nMax=20
PlotStart=1
PlotStepr=1
Xmin=0
Xmax=20
Xscl=2
Ymin=-200

VYmax=16001

8. Composition Solution:

NORMAL FLOAT AUTO REAL RADIAN MP

NORMAL FLOAT AUTO REAL RADIAN MP n

DISTANCE BETHEEN TICK MARKS ON AXIS

WINDOW

TnMax=20
PlotStart=1
PlotStep=1
Xmin=0
Xmax=20
Xscl=2
Ymin=-200
Ymax=1600
Yscl=100

n NORMAL FLOAT AUTO REAL RADIAN MP

NORMAL FLOAT AUTO REAL RADIAN MP n

1444, 08/D

Y2(Ans)
.............................. 1216.256313
Y1(Ans)
.............................. 1184.500157.
Y1(Ans)
................................ 1152.26766.
Y2(Ans)

919.5516744

Plotl Plot2 Plot3 1500
E\Y1H1.015X-50 1500
BNYSB1 . B15X—95h D S
INYs= e 1472.9.
I\Y4= Y1(Ans)
INYs= e, 1444.5875.
\Ye= Y2(Ans)
INYz= 1216.256313.
E\Ys=
E\Ys9=
Month Pay Amt Formula Balance

0 - - 1500

1 50 Y1(ans) 1472.5

2 50 Y1(ans) 1444.59

3 250 Y2(ans) 1216.26

4 50 Y1(ans) 1184.5

5 50 Y1(ans) 1152.27

6 250 Y2(ans) 919.55

7 50 Y1(ans) 883.34

8 50 Y1(ans) 846.6

9 250 Y2(ans) 609.29

10 50 Y1(ans) 568.43

11 50 Y1(ans) 526.96

12 250 Y2(ans) 284.86

13 50 Y1(ans) 239.14

14 50 Y1(ans) 192.72

15 250 Y2(ans) -54.39

8. Recursive Solution:

Use this function:

((Intg) - %)x(l 015a, —250)+ ((Int g) . gjx(l 015a, —50)



Classic

NORMAL FLOAT AUTO REAL RADIAN CL n

Plotl Plot2 Plot3

nMin=0

B~u(n)BERC(int (n/3))=(n/3))
)%(1.015%u(n-1)-250)+(((in
t((n)/3))Z(nr3)))%(1.015%u
(n-1)-50)

u(nMin)B{15003

B~vin)=

v(nMin)=

I~w(n)=

Math Print

NORMAL FLOAT AUTO REAL RADIAN MP n
Plotl Plot2 Plot3

LAMANZO s
eumB(((int(3))=%))*a,
MR
i~vin)=

v(nMin)=

B-win)=

w(nMin)=

NORMAL FLOAT AUTO REAL RADIAN MP n

Plotl Plot2 Plot3

NORMAL FLOAT AUTO REAL RADIAN MP n

Plotl Plot2 Plot3

u(nMin)B{156003
i~vin)=

v(nMin)=
B-win)=

w(nMin)=

NORMAL FLOAT AUTO REAL RADIAN MP n

Plotl Plot2 Plot3
nMin=0

u(nMin)B{156003
i~vin)=

v(nMin)=
B-win)=

w(nMin)=

NORMAL FLOAT AUTO REAL RADIAN MP n

Plotl Plot2 Plot3

MR EE63 SRRy
i~vin)= B-vin)=

v(nMin)= v(nMin)=
B-win)= B-win)=

w{nMin)= w(nMin)=
NORMAL FLOAT AUTO REAL RADIAN CL 1 NORMAL FLOAT AUTO REAL RADIAN CL =
PRESS + FOR aTb1 PRESS + FOR aTb1

n u(n) n ui(n)

) 1500 5 1152.3

1 1472.5 6 91955

2 1444.6 7 883.34

3 1216.3 8 846.6

y 1184.5 9 609.29

5 1152.3 10 568.43

6 919,55 11 526.96

7 883.34 12 284.86

8 846.6 13 239.1Y4

9 609.29 14 192.72

568.43 15 -54.38

n=10 n=

NORMAL FLOAT AUTO REAL RADIAN MP n

TABLE SETUP
TblStart=01
aTbl=1

Indpnt: Ask

Depend: Ask

NORMAL FLOAT AUTO REAL RADIAN MP n

WINDOW
nMin=0
nMax=20
PlotStart=1
PlotStepr=1
Xmin=0
Xmax=20
Xscl=2
Ymin=-200

VYmax=16001

NORMAL FLOAT AUTO REAL RADIAN MP n
DISTANCE BETWEEN TICK MARKS ON AXIS
WINDOW

TnMax=20

PlotStart=1
PlotStep=1

Xmin=0

Xmax=20

Xscl=2

Ymin=-200

Ymax=1600

Yscl=100

NORMAL FLOAT AUTO REAL RADIAN MP n
u=(Cint((2)23))=((n)r3)))K(1.015%..

Y¥=-54.38475




